Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI+ EXAMINATION - SUMMER 2016

Subject Code: 3360903 Date: 16/05/2016
Subject Name: Power System Operation And Control
Time: 10:30 AM to 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. £2Hil 518U Ulcloll scllol L.
What is bus?
ol Aed 9?

2.  Give formula to calculate the base current and base impedance of three phase
systems.

2. el ¥ ofl RreH M2 A% 5202 A A s1rlse Aucllotl YA

A,

What is a single line diagram?

Reold cltet st Aed 9f?

What is meant by unit commitment?

Yle sMenoe 9 B2

What is a power flow study?

UlaR SAl 231 AeA 92

What is a drawback of series connected capacitor?
ARy 1L W3l 3URERR oll ARSLAEL Y B2
Define voltage stability.

Al Rlll@dl unesal

List the different method for load flow analysis.
Als Al Aallcll@A 12 ofl ol wetdt Al Al
Define P.U system.

P.U ReH qxestall.

What is swing bus?

RAcOL i A2A ¥Y?
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Q.2 (a) Give single phase representation of Y-Y 3 phase transformer.

YRR () Y-Y 3 30 2ledslR 1 lootd 308 Qe alet 4.

OR
(@) Give single phase representation of Y-DELTA 3phase transformer.

(A) Y-DELTA3 %2 2lodtsld2 2 floold ¥ Yot 2ot AL,
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Derive the equation for complex power.
SIASY UlelR HIR of Yot Aol 53

OR
Give the advantage of one line diagram.

col Lol SIALUH ol SLAEL AW,
Explain the load compensation.
AlS $1AA-A UMl

OR
Explain the transformer tap changer control.

2lot Sl 2U Ao Soplcl UMl
Draw and explain one line diagram of power system.
ulerR YleH 12 Rootet Altset st e131 ULl

OR
Draw and explain the impedance diagram of power system.

UlaR e 1R srdlsedt st €131 Axesal.

List the advantages of per unit computation.
UR e ofl a1l ot sl2AEL QU

OR
Give advantage of FACT controller.

FACT So2lCR oll $lAEL Ul

Explain the steady state stability.

RSl we wollcdlél aHeal

OR
Write a short note on per unit system.

UR Yo flred UR s ol cudl.
Explain series compensation.
AR s10RAUA UM

OR
Explain shunt compensation.

Uoe $1 oAU AHOLCA.
What is the constrain for unit commitment?

Ye sMenoe 12 uRHweL 9 B2
OR

Derive the equation for incremental production cost (neglecting losses).

BoglNoed UIS52AUat 5k of Y2 cAlRcl (AU AU c2LR).

Explain the various type buses in power system.
UlalR R HL €l o€l usl? ofl tdll el

OR
Describe the criteria for economical dispatch of power.

uleR oll 85lellHlsAd SIRAU MR oll %23 HIUESS ARl
Explain AGC.
AGC dHasial.
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OR
Explain Gauss-Siedel method.

ol Alset AuUs AHsLAl.
Explain the N-R method to obtain load flow solution for P,Q only.

P,Q HI2 AS $CU oll Gict Ancall HI2 ofl N-R 3l unestal.

What are the factor affecting transient stability?

glleRauoe Rl UR MU 5l UIlool UMl
Explain the need to control transmission line voltage.

2lotHlalot ALt oll A% Soplcl $cll %323 B A AHNLAL

Prove that M(pu)= H/180f Sz/Elect. Degree for synchronous machine .

RSttt Hallot 112 A 5 ¥ M(pu)= H/180f Sz/Elect. Degree

Explain steam turbine speed governing system.
Bl 2roueet ¥ls atalelor YlreH AMesAl.

*kkkkhkkkhkkikkikikkk

3/3

04
(0} 1
07
09

04
(0} 1
04
(0} 1
03
03

03
03



	Seat No.: ________                                                     Enrolment No.______________
	GUJARAT TECHNOLOGICAL UNIVERSITY

